Exercise Part 6 with Solutions

1.Calculate the following limits:
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2. Find derivatives of the following functions:

a)

f(x) =4x3+ 2x* — 5x + 3

f'(x) =12x%+4x =5



fl(x) =

(3x2 —-1)
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1
f(x) = 2x2+3x+ﬁ

4
f'(x)=4x+3—;



f(x) = (4x + 3)?(2x% - 2)

flf(x) =2-(4x +3)-4-(2x*—2) + (4x + 3)% - 4x = 4(32x> + 36x% — 7x — 12)



f'(x)
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fx) =
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f(x) = 3cos(x) + sin(3x)

f'(x) = —=3sin(x) + 3cos(3x)



f(x) = 4cos(x?) - sin(x)

f'(x) =4-2x - ((—sin(x?)) - sin(x) + 4cos(x?) - cos(x)

= —8xsin(x?)sin(x) + 4cos(x?)cos(x)
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f(x) = 2xsin(x)

f'(x) = 2sin(x) + 2xcos(x)
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f(x) = (x—3)-e¥?

fl(x)=1-e% 2D 4 (x=3)-1-e*2=(x—2) e*?
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f(x) = 25x%2+4e*~2)°

Fl(x)=2-25x+4-2(x =2)-1-e® 2 = 50x + (8x — 16)e™* 2"
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f(x) = 2log,pe”>*

foo=2-
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